1290 Super Duke GT, white 2020 <2020><EU><F9903TF>

ACCESSORY PACK
53678
s o T
DOCUMENTACION TECNICA
DOCUMENTATION TECHNIQUE
NOTE TECNICHE
.-':-__;n
Py
: @
Vi N =4 @ _@
)
® [ , 3
N / 1
. 57 2 4
- \e) T
#
Pos Part Number Description Additional Text Quantity

0 61508021000 Front spoiler, bracket 1.00
0 0025060256 HH collar screw M6x25 TX30 2.00
0 6150802001033 Front spoiler left 1.00
0 6150802002033 Front spoiler right 1.00
0 69008021160 special screw M5x12 4.00
0 61508008000 Windshield EU 1.00
0 61408023010 SPLASH PROTECTOR 1.00
0 0081050141 EJOT PT screw K50x14 4.00
0 61312040200 MIRROR LEFT CPL. 1.00
0 61312041200 MIRROR RIGHT CPL. 1.00
0 312305 DOCUMENTS BAG 2006 1.00
0 312313 KTM BALLPOINT PEN ORANGE 1.00
0 00063004202 PRINT LABEL 60X51 MM 1.00
0 20180195INT KTM Bypack Folder Street 1.00
0 60708008070 rubber bush windshield fixatio 4.00
0 60708008071 Special screw M5x14 4.00
0 00063099114 Pocket for operating manual 29 1.00
0 61308192000 STICKER SET FORK WP SMALL 1.00
0 00063004012 HEADLIGHT MASK BOX 1.00
0 3210917 NOTEPAD 1.00




0 20180189INT Sticker accessory kit 1.00
0 62002080053 Handguard clamp, internal 2.00
0 0912080451 Screw w.hex.socket M8x45-8.8 b 2.00
0 61502083000C1 Handguard bracket right 1.00
0 61502082000C1 Handguard bracket left 1.00
0 61502080000CB Handguard left 1.00
0 61502081000CB Handguard right 1.00
0 0025050106 HH collar screw M5x10 TX30 4.00
0 61508021070 Retaining bracket front spoile 1.00
0 00063001022 Foam cutout spoiler protection 2.00
0 00063004105 950 ADV. CARTON F WIND PROT. 1.00
0 00063004204 Self-ad. stkr. 100X200 mm, per 1.00
0 00063099014 GRIFFSCHUTZ NOMAPACK 28/13 2.00
0 20180189INT Sticker accessory kit 1.00
0 3214112EN Owner’s manual 1290 Super Duke 1.00
0 K5360002 foil 3.00
1 3214112EN Owner’s manual 1290 Super Duke 1.00
2 61329099200 Tool set 1.00
3 53012024100 SCREW DRIVER L=105MM 1.00
4 60029070300 T-WRENCH WS=6/8/10/TX45/SK4X1 1.00
9 53012028200 GRIP ORANGE B&F 1.00
13 60012015000 HELMET LOCK 04 1.00
14 61329085000 HOOK WRENCH ECCENTRIC REAR WH. 1.00
15 61329083000 HOOK WRENCH MONOSHOCK 1.00
16 60012060000 GRIP FOR RING WRENCH 1.00




